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Sub: English Paper Code: 901 

LA. Do as directed: (any 4) 
}Underline the Gerund: 

1. Smoking is injurious to health 

3) ldentify the type of success. 

2) Choose correct alternative based on Homographs/ (there/their) were no volcanoes in the vicinity the bird might have come from hundreds of miles away. 
1.l want to see my new dress. 

4) Underline the infinitive 
I want to organize the show. 

5}Arrange in alphabetical order. 
anxiety, authority, amplifier, argue 

LB. Do as directed: (any 1) 
YMake sentences of Homograph showing the difference in meaning: Post 
2) Make two sentences of your own one as noun and another as a verb: Trave! 

Drawbacks of being born in a poor family 

I. Read the following passage carefully and complete the activities given below: 
Mathilde was a pretty and charming girl, born, as if by an error of fate, into a family of 

clerks. She had no means of becoming known, understood, loved or be wedded to an aristocrat; 
and so she let herself be married to a minor official at the Ministry of Education. 

2) Why was Mathilde married to a 'minor official'? 
3) Pick Out 2 adverbs from the passage. 

She dressed plainly, because she had never been able to afford anything better. She 
suffered endlessly, feeling she was entitled to all the luxuries of life. She suffered because of her 
shabby, poorly furnished house, All these things, that another woman of her class would not even 
have noticed, tomented her and made her resentful. She dreamed of a grand, palatial mansion, 
with vast rooms and inviting smaller rooms, perfumed for afternoon chats with close friends. 

4} She dreamed of a grand, palantial mansion. (underline the participle) 
According to you, who is a happy person, the one who has money or peace? 

II. Readthe answers following extract and answer the questions given below: 
Life, believe, is not a dream, 

So dark as sages say; 
Oft a little morning rain 

Foretells a pleasant day: 

20 Marks 

Sometimes there are clouds of gloom, 
But these are transient all; 

(4 Marks) 

If the shower will make the roses bloom, 
Oh, why lament its fall? 

Rapidly, merrily, 
Life's sunny hours flit by, 

Gratefully, cheerily, 
Enjoy them as they fly 

(2 Marks) 

(5 marks) 

(4 marks) 



j Qualities of life< 

2) What does the rain often foretell? 

3j Pick out rhyming words from the passage. 

41Life, believe, is not a dream. 
(Name and explain the figures of speech) 

N. Writing Skills. 

INFORMAL LETTER: 

You are Mihir / Mahira residing at 103, 

sundar milan, M.G. Road, Nagpur. Your aunt 
never takes a doth bag for shopping, always 
geting plastic bags for her groceries, etc. 

White a letter to her using the points of plastic 
ban and its bad effects. 

FORMAL LETTER: 

(5 Marks) 

You are Mihir Mahira residing at 103, Sundar 

milan, M.G.Road, Nagpur. Write a lete to the 

Editor of the local newspaper asking tnem to 

spread awarness about the need 

to avoid plastics 



Std lX 
Paper Code: 912 and 913 

WRITE BOTH MATHS 1 and 2 IN SAME ANSWER SHEET a. 1 Select the correct option and rewrite the statements 

(A) 0.17 

ex is an odd natural number, 1<XS5} How to write set in roaster form? 
(A) {1, 3, 5) N={1,2, .., 10}, What type of set N is? 

(B) (1, 3) (c) {3, 5) (D) (1, 2, 3, 4, 5) (A) Finite Set 

(A) 20 

NEW SUNRISE ENGLISH HIGH SCHOOL DESALEPADA, BHOPAR, DOMBIVLI EAST Subject Maths 1 and 2 

4] HowN many points are there in the intersection of two distinct lines? 

(B) 1.158 

(AJ one (B) infinite 5] If P-Q-R and d(P,@) = 2; d(P,R) = 10 then find d(Q,R) 
(B) 8 

Q. 2 A] Solve any 2 

Q. 2 B] Solve any 2 

6] The number of angles form by a transversal of two lines is (A) 4 (B) 2 

Q. 3 A] Solve any 1 
3 

(C) Infinite Set 

21 Represent the number S on a number line. 
31 State the orders of the surds given below. 

a) V7 b) 5V12 c) V10 d) V39 

1] Simplify: V?-V7+ 2V7 

(C) 0.2746 

R 

M 

(C) two 

1Decide weather set A andBare equal sets gìve reason for your answer 
A=Even prime numbers B= (x|7X�1=13) 

1] Point M is the midpoint of seg AB if AB = 8 then find the I(AM) 
2Write the following statements in "f- then" form 

H/ 

(C) 12 

G 

(C) 16 

a) The opposite angles of a parallelogram are congruent. 
b) The diagonals of a rectangle are congruent. 

L3In the figure below line RP || line MS and line DK is transversal, DHP = 850 
Find RHD, PHG 

S 

(D) None of these 

(D) 0.101001000.. 

21f n(A) = 15, n(AUB) = 29, n(AnB) = 7 then find n(B) 

Marks 20 

(D) not a single 

(D) V96 

(D) 8 

3M 

6M 

4M 

4M 

3] Which of the following is irrational number? 
(B) Null Set 



Q. 3 B] Solve any-4 1] In the figure below, sides of / PQR and XYZ are parallel to each other Prove that/PQR 

N 
R 

XYZ 
3M 
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Std: 1X 
LA. Fii! in the blanks. 1. 

2. 

a. Coins 

a. D.R. Verghese kurien b. Homi Bhabha 

is the father of the Green Revolution in India. 
B. In ldentify the wrong pair. 

NEW SUNRISE ENGLISH HIGH SCHOOL Desalepada, Bnopar, Dombivli East. Sub: HistoryICivics 
is not incuded in physical sourcas. b. Ornaments 

c. buildings 

1. Indira Gandhi � Emergency 2. Rajiv Gandhi - Development in science and technology 
3. PV Narasinha Rao- Economi� impYovement 4: Chandrasihekar - Mandal Commission H.A. Write shot notes on (Any2) 
Z Press Trust of India? Written sources? 

1. Characteristics of the Indian Economy? 

B. Answer in brief. (Any 1) 

eM.S. Swaminathan. 
d. Dr. Norman Borlaug 

WThe national planning commission was set up in India? 

a. Shriharikota 

B. True or False 

Paper Code: 932 

2. Audio visual media are an important source of writing the history of modern India? 

III.A. Choose the right option and rewrite the sentences. 1.A system of independent and sovereign state 

CIVICS 

a. Political system b. Social System International system 2. India conducted nuclear' tests in 1974 at 
we Pokhran 

C. Answer the following in brief (Any1) 

The world became unipolar due to the cold war. 

Proverbs 

C. Thumba 

1. Write the objectives of India's foreign policy? 

e Pandit Nehru contributed towards improving Sino-Indian relation. T 

d. Jaitapur 

12 Marks 

2What major changes occurred in global politics after the end of cold war? 

(1 M) 

(4M) 

(2M) 

d. None of these 

(1M) 

(1M) 

(2M) 
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1] 
Q. 1] Answer the following 

NEW SUNRISE ENGLISH HIGH SCHOOL DESALEPADA, BHOPAR, DOMBIVLI EAST Subject Science and Technology 1 and 2 Paper Code: 924A and 924B 

Fill in the blanks by selecting correct option from the brackets given below: 
1] Deceleration is 
21 acceleration (Positive, negative, zero) is called as the amphibians of the plant kingdom. (Bryopkýta, Thallophyta, Pterldophyta) 2] Say the following "True" or "False" 

WRITE BOTH PAPERS IN SAME ANSWER SHEET 

1] An organism may be prey for many other organisms.T 
21 The Sl unit of momentum is g cm/s f 3] Answer in one word 1] What is the SI unit of velocity? 2] Marchantia belongs to which Division? Q. 2 A] Answer the following (any 2) 

t 

}The velocity of an object at rest is considered to be uniform � Give Reason 
2] What is the formula to calculate the Force and Momentum? 31-Distinguish between Distance and Displacement. 4] Ifa =V-) 

Q. 2 B] Answer the following (any 2) 

Q. 3 AJ Answer any 1 

Write any 2 characteristics of division Bryophyta 2] Drawa neat labelled diagram of Spirogyra 

and v = 3m/s and u = 2m/s if t= 1s then fird a 

Why the energy flow through an ecosystem is 'one way' 4] Complete the diagram below 

Force = 

Force is 

2] Complete the following 

Omnivores 

SI unit of Force is 

Carnivores 

Herbivores 

Al producers in the ecosystem (Plants) 

3d Trophic level 

Trophic levels 

2ud Trophic level 

1] Explain Newton's First Law of motion. Give one example. 

1" Trophie level 

x acceleration (welght/mass) 

(Newfon/dyne) 

Marks 20 

Producers 

quantity (scalerlvetor) 

6M 

4M 

4M 

3M 



Q. 3 B] Answer any 1 1] Read the paragraph and answer the following questions The circulation and recycling of carbon from the atmosphere to living Organisms and a fter their death back to the atomsphere is called the carbon cycle. Abiotic carbon atoms are circulated and recycled into biotic fom mainly through photosynthesis and respiration. Hence, the carbon cycle is one of the important bio-gco-chcmical cyles. 
Plants convert carbon 

dioxide into carbohydrates by 
the process of photosynthesis. 
Similarly, they produce carbon 
compounds like proteins and 
fats, too. Herbivores feed upon 
plants. Carnivores feed upon 
herbivores. In this way, bìotic 
carbon is transported from 
plants to herbivores, from 
herbivores to carnivores and 
from carnivores to apex 
consumers. 

Questions: 

Biotic catbon 

Sunlight 

a) Seed 

Respiration in 
animals 

Biotic 
decompOsitions 

b) Root 
c) Leaf 

Respiration in plants 

1] Which bio-geo-cycle is shown in above picture? 

Fossil fuel 

2 By which process the plants covert COz in to CeH12O6? 

31 How does the apeX consumers gets the biotic component? 

2] Answer the following based on dicotyledonous plants 

3M 

Co, fro factories 

Absrption in water 



Std: IX 
LA, Fill in the blanks. 

NEW SUNRISE ENGLISH HIGH SCHOOL Desalepada, Bhopar, Dombivli East. 
Sub: Gecgraphy Paper Code: 933 1) Which of these is a fold mountain (The Satpudas, The Himalayas, The western Ghats) twhich direction of the lDL does a new day start immediately 

2) At 

(East, west, south) 
B) ( Give reasons why following sentences are right or wrong. 1) Choropleth Maps are used to show altitudes. 2) In choropleth rnaps, only one value is assigned to the sub-administrative unit. 

I1.A. Give geographical reason. (any1) 1) Volcanic eruptions can cause earthquakes? 2}DLis proving to be very useful in today's times? 
B. Answer the following question in brief. (any 1) 
1) Differentiate between choropleth and isopleths methods? 

12Give reason why an earthquake occurs? 

Drawbacks of being born in a poor family 

2) Why was Mathilde married to a 'minor official'? 
8 Pick out 2 adverbs from the passage, 
4} She dreamed of a grand, palantial mansion. (underline the participle) 
5YAccording to you, who is a happy person, the one who has money or peace? 

uyo, LIial anotner Woman of her class would not even 
Tiave ToIced, tormented her and made her resentful. She dreamed ofa grand, palatial mansion, with vast rooms and inviting smaller rooms, perfumed for afternoon chats with close friends. 

II. Readthe answers following extract and answer the questions given below: 
Life, believe, is not a dream, 

So dark as sages say; 
Oft a little morning rain 

Foretells a pleasant day: 

Sometimes there are clouds of gloom, 
But these are transient all; 

If the shower will make the roses bloom, 
Oh, why lament its fall? 

Rapidly, merrily, 

8 Marks 

Life's sunny hours flit by, 
Gratefully, cheerily, 

(2M) 

(2M) 

(2M) 

(2M) 

(4 marks) 
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